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QUESTION 1

You are asked to replicate 15 of 20 volumes and the network configuration of your storage virtual machine to your other
data center. 

In this scenario, which NetApp technology should you use? 

A. SnapMirror Synchronous 

B. SVM DR 

C. MetroCluster 

D. SVM peering 

Correct Answer: A Section: (none)

Reference: https://www.netapp.com/pdf.html?item=/media/19369-tr-4832.pdf 

 

QUESTION 2

A customer asks what is the correct way to configure an ONTAP system for multi-tenancy. The customer wants to serve
data and also protect data using SnapMirror from tenant A using network A and from tenant B using network B. 

In this scenario, which statement is correct? 

A. The customer must use different VLANs for the two tenants. 

B. This setup can only work if tenant A and tenant B use a shared network infrastructure. 

C. The customer must set up two different IPspaces for the two tenants. 

D. Each node can only communicate with tenant A or tenant B, but not with both at the same time. 

Correct Answer: B Section: (none) 

 

QUESTION 3

In the AFF A200 shown in the exhibit, which port is a CNA port? 

A. |0|0| 
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B. e0c/0c 

C. e0a 

D. 0a 

Correct Answer: B Section: (none) 

Reference: https://docs.netapp.com/platstor/topic/com.netapp.doc.hw-2700-install-setup/GUID-FE4BD3C8-3DB4-438A-
A5CE-FEEF74AE8BAF.html 

 

QUESTION 4

How many drive bays does a DS4246 shelf have? 

A. 42 

B. 12 

C. 46 

D. 24 

Correct Answer: D Section: (none)

Reference: https://www.insight.com/en_US/shop/product/DS4246074812AQSR6/NETAPP/DS4246-074812A-QS-
R6/NetAppStorageShelfDS4246-Storageenclosure-24bays(SAS-2)-HDD4TBx12-rack-mountable4U/ 

 

QUESTION 5

You perform a security trace when troubleshooting a data access problem for a user. The results are shown in the
exhibit. 
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What should you do to solve this issue? 

A. Grant the user Read Attributes access to the path. 

B. Add the user to the BUILTIN\power Users group. 

C. Add the user to the BUILTIN\Users group. 

D. Grant the user Execute access to the path. 

Correct Answer: A Section: (none) 

Reference: https://www.reddit.com/r/netapp/comments/dm90iv/change_ownership_failing/ 
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